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110 + 63 + (13 - 6)
=1104+63+7
=110+9

=119

121 +11+12%9
=114 108

=119
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@ 26 +54-32=112 @40—19+27:48
® 29+ (72 - 45) = 52 @ 61-(24+18) =55

® 72— (13 + 16) = 38
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@ 26 + 54 — 32 = 80 — 32 = 48

® 29+ (72 -45) =29 + 27 = 56

@ 61— (24+18) =61 -42 =19

® 72— (134 16) = 7229 = 43
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21 x13 =273, 273+ 15 =288, 288+32=9
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OM(21x13)+15}+32=9 @ {(21x13)+15+32} =9

® 21x(134+15)+32}=9 @ 21 x{(13+15)+32} =9

® 21 x{13+(15+32)} =9
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72+3%x8+13=16
@®© 72+3%x(84+13)=16 @72+(3x8)+13:16
® (712+3)x8+13=16 @ (72+3)x (84 13) =16

® 72+ (3x8+13)=16
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5% {(6+14) x 2 — 10} + 15

= 5% {202 - 10} + 15

= 5% (40 — 10) + 15

—5%30+15

=150 + 15

=165
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10000 — {1200 x (4 + 3) + 600}

= 10000 — (1200 x 7 + 600)

= 10000 — (8400 + 600)

= 10000 — 9000
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684 = {(13+21) x 2+ (12 — 4)}
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684 + {(13 4+ 21) x 2 + (12 — 4)}
=684+ (34x2+8)

— 684 = (68 + 8)

= 684 + 76

=9




